
 

 

RV581M600100 

Revo Intake Upgrade Kit V2 ETR Turbo VAG 2.0 TFSI/TSI MQB  

onlyrevo.com 

Dealer Fit Recommended 

Description  

Revo Intake Hose 1 

Revo Intake Hard Pipe 1 

Revo Heatshield 1 

Revo Air Filter 1 

Heatshield Bracket 1 

Pipe Bracket 1 

Revo Turbo Inlet 1 

Breather Adapter 1 

O-ring 2 

Rubber Grommets 2 

90-110 Hose Clamp 1 

80-100 Hose Clamp 1 

70-90 Hose Clamp 1 

25-40 Hose Clamp 1 

M6x16 Hex Head Bolt 1 

M6x25 Cap Head Bolt 1 

M6 Nylock Nut 1 

M6 Washer 3 

 

Tools Size 

Ratchet  

Extension  

Sockets 7, 10, 13mm 

Torx Bits T30 

Hex Key 5mm 

Circlip Pliers  

Flat Head Screwdriver  Small 

 

 
   

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

Before starting, please 
ensure that the engine 
is cool and the battery is 
disconnected. Engine 
temperatures can 
remain high for a 
substantial amount of 
time after use. 

 



 

 

RV581M600100 

Revo Intake Upgrade Kit V2 ETR Turbo VAG 2.0 TFSI/TSI MQB  

onlyrevo.com 

Dealer Fit Recommended 

 
 
 

1 
 
 
 
 

 
2 

 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 

5 

Remove the OE intake pipe by releasing the hose 
clamps at the turbo inlet and airbox. 

Disconnect the breather pipe from the turbo inlet. 

Remove the T30 bolt attaching the turbo inlet pipe to the 
turbo, then twist the inlet pipe and remove. 

Install the new machined Revo turbo inlet. Note: it will 
only fit onto the turbo one way so align the slots and 
twist 90° to lock into place. 

Pull the vacuum pipe off the side of the airbox lid 
and pull upwards on the airbox assembly to release 
from the rubber grommets, remove from the 
vehicle.  



 

 

RV581M600100 

Revo Intake Upgrade Kit V2 ETR Turbo VAG 2.0 TFSI/TSI MQB  

onlyrevo.com 

Dealer Fit Recommended 

 

6 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7 
 
 

 
 
 
 
 
 
 
 

8 

Insert the breather adapter into the Revo intake hose and 
secure using the 25-40 hose clamp. Install the Revo 
intake hose onto the turbo inlet first, then align and 
tighten using the 70-90 hose clamp. 

Assemble the mini bracket assembly onto the 90-110 
hose clamp and attach the pipe bracket, as shown. 
 
Once assembled install the bracket assembly. First 
remove the bolt, shown in the lower picture, and then use 
the M6x25 cap head bolt (supplied) to bolt the bracket 
assembly into position, with the hose clamp fitted around 
the hose, as shown. 

Attach the heatshield bracket to the Revo heatshield 
using the M6x16 bolt, 2 x washers and nylock nut. Insert 
the 2 x rubber grommets into the large holes on the 
base of the Revo heatshield, as shown. 



 

 

RV581M600100 

Revo Intake Upgrade Kit V2 ETR Turbo VAG 2.0 TFSI/TSI MQB  

onlyrevo.com 

Dealer Fit Recommended 

 

9 
 
 

 
 
 
 
 
 
 
 

 

10 
 
 
 
 
 
 
 
 

 
 
 
 

 

Remove the M13 bolt from the battery tray, as shown. Then 
insert the assembled Revo heatshield onto the OE airbox 
mounts and using the bolt previously removed secure the 
heatshield bracket to the battery tray and tighten. 

Install the Revo intake hard pipe and secure using the 
hose clamp fitted to the Revo intake hose, as shown. 
Next, attach the Revo air filter using the 80-100 hose 
clamp (supplied). Tighten the hose clamps to secure. 
Note: be careful not to damage the Revo hard pipe by 
overtightening the hose clamps.  

 
Fit the vacuum pipe to the Revo hard pipe and check that 
everything is tight and correctly aligned. Test drive the 
vehicle to ensure vehicle performs correctly and there 
are no leaks/part interference during operation. Your 
installation is now complete!  

 

Note: the instructions were produced using development parts. The products supplied may differ from the products shown. 


